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Demand for Bread and Meat: Answer Key

1.a. 

QB =
1.95423 +
.029601 Y + e


(.842)

2.321
(.00852)

3.47

1.b.

QB =
.4011 +
.0245 Y +
.4129 S -
.355 PB
+.57 PM + e


(1.03)

.39
(.00789)

3.10
(.112)

3.69
(.062)

5.73
(.161)

3.54

2. 
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tobs = 1.954/.842 = 2.32



P(-2.32 < t < 2.32) ( .974  Therefore reject the null.

3. i.
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The observed F is above the critical value for any reasonable significance level, so reject the null.

3.ii.
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tobs = .57/.161 = 3.53


Reject Ho at the 1% level of test.

4.

i.
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ii.
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iii.
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iv.

[image: image15.wmf]1

2

11

12

h

a

+

e

=

x






[image: image16.wmf])

489

(.

18

.

95

)

6

.

1

)(

9

.

7

(

77

.

4

9

.

7

57

.

12

÷

ø

ö

ç

è

æ

+

÷

ø

ö

ç

è

æ

=

x






[image: image17.wmf]0096

.

1

12

=

x




5. For the meat equation

QM =
7.512 +
.0389 Y -
.356 S +
.146 PB -
1.179 PM +
e


(.95)

7.91
(.008)

4.86
(.121)

2.94
(.061)

2.39
(.149)

7.91


a. 
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At the 2.5% level reject Ho

b. 
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Define 
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tobs = 6.306

Reject the null.

6.

LnQB =
-.5633

(.465)
+.719 lnY

(.162)
+.33 ln S

(.132)
-1.196 ln PB
(.172)
+.066 ln PM
(.16)
+ e

LnQM =
-1.833

(1.54)
+1.514 lnY

(.54)
+.899 ln S

(..44)
+.642 ln PB
(.57)
-2.282 ln PM
(.54)
+ e

a.
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tobs = .0497/.1117 = .4462
Do not reject the null.

b. 
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tobs = -1.041 
Do not reject the null.
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